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Ql. L[Sinat]
Option A: a
s?24+qg?
Option B: a
2 — g2
Option C: S
2 — g2
Option D: S
s? +a?
Q2. Laplace Transform of e?![cos3t +§sin3t ]
Option A: s+2
s?2 —4s +13
Option B: s+3
s?2—4s+13
Option C: s+4
s?2—4s+13
Option D: s—2
s?2—4s+13
5
Q3. Laplace Transform of e?¢ [t* + 24 % ]
Option A: S
(s =2)°
Option B: s+2
s2—4s+7
Option C: s+2
s?2—4s+1
Option D: s+ 2
s?2—4s—13
2
Q4. Laplace Transform of [-1 —t -% +el]
Option A: 1
s3(s+1)
Option B: 1

s3(s—4)




Option C: 1
s
Option D: 1
s3(s—1)
Q5. s
Inverse Laplace Transform of Erad) o bD)
Option A: 1 i i
P % 2_bz)[asmat +bsinbt ]
Option B: 1 inat —bsi
P (e bz)[asmat bsinbt ]
Option C: 1 inat —
P (e bz)[asmat bcosbt ]
Option D: ! _bsi
P (az_bz)[acosat bsinbt ]
6. St
Q Inverse Laplace Transform of DG
Option A: -1 +et -% sin 2t
Option B: -1 -et -Isin2t
2
Option C: -1 +et +—% sin 2t
Option D: 1 +et -% sin 2t
Q7. Inverse Laplace Transform of 542;
Option A: sint sinh t
Option B: csctsect
Option C: costcosht
Option D: cott tan ht
8. _r
Q Inverse Laplace Transform of T2 (D)
Option A: et~ L7t Leg-7t]
49 49
Option B: et[= 4 Lle7t. Lo
49 49 7
Option C: e[~ +le Tty Leo-7r)
49 49 7
Option D: 3secp 1 —7e 2 -7t
P el " ¢ 1
Qo. Find a ,b ,c .d if f(z) =[ x? +2axy +by?] +
i[cx?+2dxy + y?] is analytic function
Option A: a=1lb=-lc=-1d=-1
Option B: a=1lb=1lc=-1d=1
Option C: a=lb=-lc=-1d=1
Option D: a=-lb=-lc=-1d=1
Q10. Find Real Part of Analytic function whose

x 2

-y

Imagin = x%+
aginary part v=x Ty




Option A: -
ption ny e
Option B: 2xy + ﬁyz
Option C: Y
ption 2xy + iy
Option D: -
ption Xy + ity
QIl. If v =e* sin y then its Harmonic Conjugate is
Option A: e*siny
Option B: —e*siny
Option C: e* cosy
Option D: e*sinx
1
Ql12. vt
: r
Option A: —
3
Option B: —
=T
Option C: __Z)
.
Option D: -
3
Ql13. vr3
Option A: nr"? -
r
Option B: —nr’? >
r
Option C: —r"2 5
5
Option D: rn=8
5
Ql14. Find a ,b ,c if 2= [axy +bz3 i* +[3x%-cz |j» +
[3xz2 -y]k" is irrotiational.
Option A: a=6,b=1,c=1
Option B: a=4 ,b=1,c=1
Option C: a=6,b=3,c=1
Option D: a=6,b=1,c=2
Q15. if > =( x?% —yz)i* + (y2-zx)j* +H(z? xy)k" is
Option A: Solenoidal
Option B: Irrotational
Option C: Both a and b
Option D: Neither a nor b
Qle6. In fourier series of x? in [-m 7] ag is

Option A:

TL'Z

3




Option B: m?
9
Option C: w2
3
Option D: m?
4
Q17. In Fourier series of x2 [0, 3] what is b,
OptiOl’l A: 12["2 ;4]
T
Option B: 18[”2;4]
T
OptiOIl C: 14["2 ;4]
T
Option D: m’-4
plion 17[ = ]
Q18. In fourier series of f(x) = x what is ay =
Option A: 1
Option B: 2
Option C: 3
Option D: 6
QI19. 31 1
Eigen values of |2 4 2‘ are
1 1 3
Option A: 6,2,2
Option B: 1,2,3
Option C: 43,2
Option D: 0,2,7
Q20. . -1 4
The Eigen values of [ ) 1]
Option A: 3,-3
Option B: 2,1
Option C: -1, -1
Option D: 3,3




Q2.

Solve any Four out of Six 5 marks each

(20 Marks)
A Find e? and 4Awhere A = [3 1]
2 11 3
2 21
B Find Eigen values and vectorof {1 3 1
1 2 2
C Find half range sine series for f(x) =x? in [0,3]
Obtain Fourier series of f(x) =0 -n<x<0
D
x? 0<x< ™
e show that - = ( x? —yz)i* + (y?-zx)j* H(z? xy)k” is conservative field . find its
scalar potential.
- Evaluate by Greens theorem §(x%y dx +y>)dy where c is the closed path formed

by y =x and y = x?

Q3. Solve any Four out of Six 5 marks each
(20 Marks)
A Show that v = e*[xsiny + ycosy] satisfied Laplace equation and find its
corresponding analytic function.
B If f(z) = u +iv is analytic function and u-v =e*(cosy — siny) find f(z)
. . . S
C Find inverse Laplace of the following Gsr D2
D If fooo e~ 2t sin(t + ) cos(t — o) :g then find «
E Find Laplace transform of w
F Find inverse Laplace of the following (54;

53




